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Time allowed : Three Hours] [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FI VE questions from the remaining.

(ii) N TeT % @ T ) HHAR TF GIE §T FBHord |

Solve all parts of a question consecutively together.
(iii) Y% ¥97 F1 73 98 & IRH Ffd |

Start each question on fresh page. ;
(iv) - ﬁ#wﬁ#mﬁ##@zﬁrﬁaﬁsﬁmsﬁm?/

Only English version is valid in case of difference in both the languages.

L. () EMal+ty+ 12x = 0 % g & B Fra AR |

Find the centre and radius of the circle x2 + y2 + 12x=0. ‘ ?2)
= dye e
(i) IS THHW = € Y % &1 IR |

d
Solve the differential equation (—i% =g V. 2)

(iii) @R T | H1 AT T BT T B |
Find the modulus and argument of the complex number 1. 2)

(iv) € "% 1 gHEhei F1d B |

3 log. x

Find the integral of € )
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glew g =2i—j+k®wafw b =1-2j + k Wydv 7ma Hife |

Find the projection of vector @ = 2i — j + k on vector b =1- 2] +k. ()
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Find the equation of the circle which pass_és through the origin and cuts-off
intercepts 3 and 4 from the positive parts of the axes respectively. (6)

3
g IR : cos 10° cos 30° cos 50° cos 70° = ¢

3
Prove that : cos 10° cos 30° cos 50° cos 70° = 16 2l (6)

wieew B w1 w3 = e el T ) g Fifv

Solve the following system of equations using inverse matrix :

xty+z=2 x4+ 2y+3z= 2 +3y+2=0 6)

a YT b % W T hifed Ife i S v = | WEaq & |

Find the value of a and b if the following function is continuous at x = 1

2xka oy >
finy=r b x=l : , (6)

Sx= 2= imsl

g fifd -
Prove that :
licba - 1 1
| 11t »
I -~ t4ibia ) =abc(1+a+b+c) ©)
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(ii) mw%@wmmﬁﬁﬁwﬁﬁg(l —2)1}331'&1%@%%@1 Tx — 4y +
2=0F THRRR |
Find the equation of a line passing through (1, —2) and parallel to the line
Tx—4y+2=0. (6)
: : o
(1) zlﬁx‘+y2 Wx4+y4—t2+ amﬁﬁ'&ﬁ,\ =0
2 2 i 2 1 .‘1}1 ; v
ety =t—?and. 4+ yh =t + thenprovethat,\dx+y=0 (6)
(ii) 6 X =T TF =Afe 20 Hiew F= vH™ Wa / 3.5 rha/@maﬁatﬁqmta
? | 3uh! BT # it Y & T HIRR |
A man 6 m height moves directly away from a lamp post 20 m high at the rate of
3.5 m/sec. How fast does the length of his shadow change ? (6)
= Tarehe & IR
Solve the following integrals :
(i) f sin~Lx dx : (6)
(ii) j sin’x cos?x dx : (6)
Fr= sraeper arfie g IR
Solve the following differential equations :
st
@ oitlay ©)

(i) (D?-3D+2)y=¢e* . (6
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HHE d1d H
Find the value : 6)
n2
f dx
1 +tanx
0

wmeﬁwﬁﬁ?

A

For what value of A, vector @ =2i — j + k, b =i + 2j — 3k and © =31 + Aj + 5k

are coplanar ? e - (6)



